(D | Metric Units of Length: 3 Numbers

Name:

|£J
Choose the best answer

Grace's pine tree is 12 meters tall.
Joseph's pine tree is 4 meters
shorter than Grace's tree. Who has
the taller pine tree?

Grace Joseph

B

At school there is a competition for who
can grow the tallest bean plant. Anthony's
plantis 4 centimeters tall. Brianna's plant

is 1 centimeter tall. If Sydney's plantis 9

centimeters tall, how much talleris
Sydney's plant than the combined height
of the other two?

centimeters

|£J

There are three trees in Emma's backyard.
Oneis small enough to measure and is 4
meters tall. The second tallest tree is 8
meters taller. If the tallest tree is 1 meter
taller than the second tallest tree, then
how tall is the tallest tree?

meters
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At the gymnastics gym there are three
balance beams. One is 1 meter long, and
the second balance beam is 7 meters
longer than the first. The third balance
beam is 2 meters longer than the second
beam. How long is the third balance
beam?

meters

(]
At school there is a competition for who
can grow the tallest bean plant. Tyler's
plantis 1 centimeter tall. Jackson's plant
is 1 centimeter tall. If Brayden's plantis 8
centimeters tall, how much talleris
Brayden's plant than the combined height
of the other two?

centimeters

[+
There are 3 snakes currently at the pet
store. The longest is 7 centimeters long.

The garder snake is 1 centimeter long. The
corn snake is 3 centimeters long. How

much longer is the longest snake than the

combined length of the corn snake and the

garder snake?

centimeters
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Angela likes furniture of odd dimensions
and is getting a new bed. Her old bed is 7
meters long. The first bed she looks atis 7
meters longer than the old bed. The
second bed she looks at is 7 meters longer
than the first bed. How long is the second
bed?

meters

|ﬁJ
Choose the best answer

Olivia's pine tree is 12 meters tall.
Zachary's pine tree is 3 meters
shorter than Olivia's tree. Who has
the taller pine tree?

Zachary Olivia

|ﬁJ
Choose the best answer

In Ava's house, the officeis 7
meters long. The dining room is
1 meter longer than the office.
Which room is shorter?

office dining room
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Choose the best answer

Joshua's pine tree is 10 meters
tall. Ava's pine tree is 5 meters
shorter than Joshua's tree. Who
has the taller pine tree?

Joshua Ava

#11

Choose the best answer

In Sydney's house, the office is
3 meters long. The dining room
is 1 meter longer than the
office. Which room is shorter?

dining room office

#12

Choose the best answer

In Isabella's house, the office is
9 meters long. The dining room
is 8 meters longer than the
office. Which room is shorter?

office dining room
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ww | Metric Units of Length: 3 Numbers Answer Key
Question Answer
#1 choice 1
#2 4
#3 13
#4 10
#5 6
#6 3
#7 15
#8 choice 2
#9 choice 1
#10 choice 1
#11 choice 2
#12 choice 1
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